H’,Faaoﬁ ol

O Eio- Pupeons
i ;S T

Meelahons é.a___

| - Sy

-
f%d“»\@_ °
Je —=

dx

——

- 4’

— -
e r—

ele Ao

—
—

Uity = Uy > ( Cu,u.,—?_u;.s.; U ~¢,0 )

v

.- De

M as by = e (i Uy = iy +ga- ;)

&

P

—

Ax

P n(x OLM? ¢ e i ol

AK = D ¢y o 0.02 -

_____A_Ss?i_ lankal Gl

Y = O = )&4 _': ’O

® zoea 5 0%~ b x0T

£

9 2 0""' “‘) O-

s—

0.0256¢

—

0.1296

x =0 3 6.5% =

LoAeefoe Ui jt) = uigg

wre 3y -2u0+ Ut =

1o &

U;4_al+\ =tk -l,‘i*(‘-l‘% u"vl 3+ ru.,_-)-‘wj—a

L sk
B B 0'§(uu,0)f «0-§(u,.o)

U = O'r7, Gb 4+ 0~:)-.(°' 01‘5'6)

o-0'2%

o
z
W\

u‘i&(/\/\ I’ZQ’:J-:.O:




—_— ﬂﬂ\\ = °§ (U.\o') ) e g-(u o\

Ele Wby w weemiCivl ,f 3)+ Q')(e m%)
W = 0 0654
wlen L =3 J;Q
P Wy = 0’4: mm «+ OC(LQL
—— 0\5.‘.‘ = 0.5 (0 02)‘6\ {v ¥ Co 40"(6>
g = © 2\ .
S "=4, i=0
Qigae = (U\x.n\ t 05(4m\
Qo = 05 (o-cast) +06‘(’o4<m)
Hay = o-5649
L el e
ia o=t =2 g O 5_(“94)*-05‘(%‘)
Ui 2 - ©-F Uy, + O {tea &

\

Ot o5 (o-obst) - 0-032¥
\.CLV\ ;;i =~ ulz “QSCU\QX-“OS(U«,H

\,\L' = o.S f(aaOil?)"‘— b‘g.(o 2‘7'6)
= 1Bt KZ—
.5
-5

/th\)‘\' 0)((11”
> Co oesQ*M (e 74453
2 0315
WAl Nl =4 4) uAa. = /(_dn\ &S (ux‘

. o5 (e 119 1 05(0)
U«u@ =~ O begy

gen P21 D U = 05 (Uow) + 05 (n20)

z 0*0$<o&ls:—\
~ 0-03Fb

Uhen 1 =2 SO, = 0.5 (w.) + O-f(ug,z)

05 (0 -o35) 4 0-5(03/2)
T




sz 205 ﬂ.!zn.) T (W)

U 3 = 0 C[aubz,)*Of(ﬂ""’a)______
\ﬂ/’- - b-362
lr/""“'““
: \—'j uq% =5 0o} (u\ z) 4 © r;CUr?—)
}/-"’—“ B — . 2 05";(:: 5’13'2.) ~+ OS(‘ =

-
{

e - Z o 534

1 )y =3
‘I/&L Huin ' =\ —) uuq -GS Cuv.':) 4 O'r[u"?—“")

j::__x_k_ﬁ_: 65 (0D 405 (0124)

|_ - Z ©:08Y

\ = Waw =0 SCU,;) + O‘(@(m;)

= 85 (o osnh 0-5 (o Sez)

- 0-209g

5 Uzs =05 (ws) 3 0-5(uq.s)

0-5 (o. lq‘ﬂ + 05 (o 65—4@)
0-JI5§ —

=3 W4 = Q-5 (Uz:;,) 4 O3 (u;.3>

- 0.5 (o'%z) +05 ()

= 8651

N

—) sz ©S (U'o»4v)+ e ‘5'(“’?14)
- _©B-S (o-iﬂ)‘ts’)_
= 01049
—y Uz, s — ©-S (\h@l*- o- S‘/U;N)
= 0.5 (05D 4 05 (o Hisg)
= 0.254
dss = OS(H 4)—703@1_\

05Co209%) ¢t o 7/0 61)

- g.4454




s — T gDt (1)
- o 3o 1
il 4 — \‘/
e - — |
o B i
At J/ﬁe_.“‘, I s 4:
Q- § o o-loelq | 025 | oS |5 q074] |
0.0% ;- o |eceyte | 0-207|0-45% |orxn |
L0k % 0 0-0530 o- 1149 O-%62 |5 wsat '
L = ©  lo-0329 |o.ops@ [ %1% |5 ieup | |]
—lg:92 \ O ©-0128 [0-065L | 02136 65445 |)
Q v v o .00\l ©.028 | ©.129L |o0.40%%8 | i
O 0.2 O.d 0.6 _— [
) © { 2. 2 i [<




